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What are two ways to execute Scheduler processes?(Choose two.) 

A. manually through the Admin client

B. automatically through the Web client

C. manually using the database server

D. automatically at a predefined time

Answer: A, D 

QUESTION: 31
 
In which two situations should Pick Lists be used in a table?(Choose two.)
 

A. when there can be more than a few thousand unique values

B. to enforce the column to be “not null”

C. when the data exists in another table

D. to ensure data integrity

Answer: C, D 

QUESTION: 32
 
What organizes multiple Web tabs in the Web client?
 

A. Web Tab Groups

B. Folders

C. Web Tabs

D. Portal Access Groups

Answer: A 

QUESTION: 33
 
Refer to the Exhibit below.
 



 

      

          

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

   

 

 

 

  

 

 

 

 

 

 

 

 

   

 

 

 

  

 

 

 

 

 

 

Referring to the exhibit, you are creating a calculation with the “Payment” calculation as 

the source and “Period” as the only accumulating partition. What will be the value of the 

record with a PayeeID = “0002” and Period = “2012, February”? 

A. $2500

B. $3500

C. $6000

D. $7000

Answer: C 

QUESTION: 34
 
What are two purposes of using components in Composer?(Choose two.)
 

A. for aesthetics

B. for granular applicationof security

C. for organization

D. for troubleshooting purposes

Answer: B, C 

QUESTION: 35
 
Which two types of Values are created in Presenter?(Choose two.)
 

A. Stored Value

B. Summed Value

C. Data Grid Value

D. Calculated Value

Answer: A, D 

QUESTION: 36 

Which two elements would be used as a data source in a Presenter report across all levels 

of Composer?(Choose two.) 

A. Calculations

B. Data tables

C. Data Stores



 

 

   

 

 

 

 

 

 

 

 

 

 

 

 

   

 

 

D. Globaltables

Answer: C, D 

QUESTION: 37
 
Which two column types would be used as a partition?(Choose two.)
 

A. Comment

B. Text Box

C. Numeric

D. Date

Answer: B, D 
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